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ANTHROPOLOGY 

Paper – II 

Note : This paper contains fifty (50) objectives type questions, each question carrying two 

(2) marks. Attempt all the questions. 
 

1. The study of fossil evidence of human evolution is known as 

 (A) Paleopathology (B) Primatology 

 (C) Paleoanthropology (D) Prehistoric Archaeology 

 

2. Biological Anthropology deals with the evolution of the 

 (A) Behaviour (B) Mind 

 (C) Human body (D) All the three 

 

3. Who discovered a well preserved juvenile specimen and termed it as ‘Australopithecus 

Africanus’ ? 

 (A) Raymond Dart (B) K.C. Chang 

 (C) A.B. Bohlin (D) Franz Weidenreich 

 

4. Who rediscovered Mendel’s work in 1900 ? 

 (A) Hugo de Vries (B) Carl Correns 

 (C) Both of them (D) None of them 

 

5. The work of Fisher, Haldane and Wright founded the discipline of 

 (A) Population Genetics (B) Orthogenesis 

 (C) Molecular Genetics (D) Natural Selection 

 

6. Who among these authored the classic book “Descent of Man” ? 

 (A) Charles Lyell (B) Charles Darwin 

 (C) Richard Owen (D) Thomas Huxley 

 

7. Which of the following scientist is related to sterafontein fossils ? 

 (A) Robert Broom (B) Raymond Dart 

 (C) Philip Tobias (D) Adams Leakey 

 

8. Which of the following sites yielded first evidence of cultivated wheat ? 

 (A) Natuf (B) Fayum 

 (C) Jarmo (D) Catal Huyuk 

 

9. Which of the following is radiometric method of dating ? 

 (A) Archaeomagnetic (B) Varve 

 (C) Thermoluminiscence (D) Potassium Argon 

 

10. Which of the following tools belongs to Monsterian culture ? 

 (A) Hand axe (B) Chopper 

 (C) Denticulate (D) Laurel leaf point 
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´ÖÖ−Ö¾Ö ×¾Ö–ÖÖ−Ö 
¯ÖÏ¿−Ö¯Ö¡Ö – II 

 

−ÖÖê™ü : ‡ÃÖ ¯ÖÏ¿−Ö¯Ö¡Ö ´Öë ¯Ö“ÖÖÃÖ (50) ²ÖÆãü-×¾Ö�ú»¯ÖßµÖ ¯ÖÏ¿−Ö Æïü … ¯ÖÏŸµÖê�ú ¯ÖÏ¿−Ö �êú ¤üÖê (2) †Ó�ú Æïü … ÃÖ³Öß ¯ÖÏ¿−ÖÖë �êú ˆ¢Ö¸ü ¤ëü … 
 

1. ´ÖÖ−Ö¾Ö ˆ¤Ëü×¾Ö�úÖÃÖ �êú •Öß¾ÖÖ¿´Ö ¯ÖḮ ÖÖ$Ö �úÖ †¬µÖµÖ−Ö ŒµÖÖ �úÆü»ÖÖŸÖÖ Æîü ? 

 (A) ¯Öã̧ üÖ ¿Ö¸üß¸ü ¸üÖê)Ö ×¾Ö–ÖÖ−Ö (B) ¯ÖÏÖ‡´Öî™üÖê»ÖÖò•Öß 
 (C) ¯Öã̧ üÖ ´ÖÖ−Ö¾Ö ×¾Ö–ÖÖ−Ö (D) †Ö×¤ü�úÖ»Öß−Ö ¯Öã̧ üÖ¾Ö¿ÖêÂÖ ×¾ÖªÖ 
 

2. •Öß¾Ö ×¾Ö–ÖÖ−ÖßµÖ ´ÖÖ−Ö¾Ö ×¾Ö–ÖÖ−Ö ×�úÃÖ�êú ˆ¤Ëü×¾Ö�úÖÃÖ ÃÖê ÃÖ´²ÖÛ−¬ÖŸÖ Æîü ? 

 (A) ¾µÖ¾ÖÆüÖ¸ü (B) ´Ö−Ö 
 (C) ´ÖÖ−Ö¾Ö ¿Ö¸üß¸ü (D) ŸÖß−ÖÖë 
 

3. ×�úÃÖ−Öê ÃÖã-¯Ö×¸ü̧ ü×0ÖŸÖ ×�ú¿ÖÖȩ̂ ü ¯ÖÏ×ŸÖºþ¯Ö �úß 3ÖÖê•Ö �úß †Öî̧ ü ˆÃÖê ‘†ÖòÃ™Òêü»ÖÖê×¯Ö£Öß�úÃÖ †±Ïúß�êú−ÃÖ’ �úÖ −ÖÖ´Ö ×¤üµÖÖ ? 

 (A) ¸êǘ Ö$›ü ›üÖ™Ôü (B) �êú.ÃÖß.”ûÖÓ)Ö 
 (C) ‹.²Öß. ²ÖÖêÆü×»Ö−Ö (D) ±Ïïú•ÖÌ ¾ÖÖ‡›ü−Ö¸ß“Ö 
 

4. ÃÖ−ÖË 1900 ´Öë ´Öï›ü»Ö �êú �úÖµÖÔ �úß ¯Öã−Ö: 3ÖÖê•Ö ×�úÃÖ−Öê �úß ? 

 (A) Êã)ÖÖê ›êü ¾Ö×¸üÃÖ (B) �úÖ»ÖÔ �úÖî̧ ü−ÃÖ 
 (C) ¤üÖê−ÖÖë (D) �úÖê‡Ô ³Öß −ÖÆüà 
 

5. ×±ú¿Ö¸ü, Æü»Ö›êü−Ö †Öî̧ ü ¸üÖ‡Ô™ü �êú �úÖµÖÔ −Öê ×�úÃÖ ×¾ÖªÖ ¿ÖÖ3ÖÖ �úß Ã£ÖÖ¯Ö−ÖÖ �úß ? 

 (A) •Ö−ÖÃÖÓ3µÖÖ †Ö−Öã¾ÖÓ×¿Ö�ú ×¾Ö–ÖÖ−Ö (B) ×−ÖµÖŸÖ ×¾Ö�úÖÃÖ 
 (C) †$Öã †Ö−Öã¾ÖÓ×¿Ö�ú ×¾Ö–ÖÖ−Ö (D) −ÖîÃÖÙ)Ö�ú “ÖµÖ−Ö 
 

6. ‘×›üÃÖë™ü †Öò±ú ´Öî−Ö’ −ÖÖ´Ö �úß ¯ÖãÃŸÖ�ú �êú »Öê3Ö�ú ×−Ö´−ÖÖÓ×�úŸÖ ´Öë ÃÖê �úÖî−Ö Æïü ? 

 (A) “ÖÖ»ÃÖÔ ×»Ö»Ö (B) “ÖÖ»ÃÖÔ ›üÖÙ¾Ö−Ö 
 (C) ×¸ü“Ö›Ôü †Öê¾Ö−Ö (D) £ÖÖò´ÖÃÖ ÆüŒÃÖ»Öê 
 

7. ×−Ö´−ÖÖÓ×�úŸÖ ´Öë ÃÖê �úÖî−Ö ÃÖÖ ¾Öî–ÖÖ×−Ö�ú Ã™Òêü�ú±úÖÑ™üÖ‡−Ö •Öß¾ÖÖ¿´ÖÖë ÃÖê ÃÖ´²ÖÛ−¬ÖŸÖ Æîü ? 

 (A) ¸üÖò²Ö™Ôü ²ÖÎæ´Ö (B) ¸êü´Ö$›ü ›üÖ™Ôü 
 (C) ×±ú×»Ö¯Ö ™ãü²ÖÖÃÖ (D) ‹›ǘ ÃÖ »Öß�úß 
 

8. )ÖêÆæÑü �úß 3ÖêŸÖß �úÖ ¯ÖÆü»ÖÖ ¯ÖḮ ÖÖ$Ö ×−Ö´−ÖÖÓ×�úŸÖ ´Öë ÃÖê ×�úÃÖ Ã£Ö»Ö ´Öë ×´Ö»ÖŸÖÖ Æîü ? 

 (A) −ÖÖ™æü±ú (B) ±úÖµÖǽ Ö 
 (C) •ÖÖ´ÖÖì (D) �úÖ™ü»Ö ÆãüµÖæ�ú 
 

9. �úÖ»Ö-×−Ö¬ÖÖÔ̧ ü$Ö �úß ¸êü×›üµÖÖê´Öî×™Òü�ú ×¾Ö×¬Ö ×−Ö´−ÖÖÓ×�úŸÖ ´Öë ÃÖê �úÖî−Ö ÃÖß Æîü ? 

 (A) ¯Öã̧ üÖ “Öã´²Ö�úßµÖ (B) †−Öã¾ÖÂÖÔÃŸÖ¸üß (¾ÖÖ¾ÖÔ) 
 (C) ŸÖÖ¯Ö-ÃÖÓ¤üßÛ¯ŸÖ (D) ¯ÖÖê™îü×¿ÖµÖ´Ö-†Ö)ÖÔ−Ö 
 

10. ×−Ö´−ÖÖÓ×�úŸÖ ´Öë ÃÖê �úÖî−Ö ÃÖÖ †Öî•ÖÖ¸ü ´ÖÖˆÃÖ™êü×¸üµÖ−Ö (´ÖÖêÃŸÖÖ¸üß) ÃÖÓÃ�éú×ŸÖ ÃÖê ÃÖ´²Ö−¬Ö ¸ü3ÖŸÖÖ Æîü ? 

 (A) ÆüÃŸÖ �ãú»ÆüÖ›Íüß (B) )ÖÓ›üÖÃÖÖ 
 (C) ¤üÖÓŸÖ¤üÖ¸ü (›ëü×™ü�ãú»Öê™ü) (D) »ÖÖò̧ êü»Ö »Öß±ú ¯ÖÖò‡Ó™ü 
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11. The author associated with the concepts of great tradition and little tradition is 

 (A) Louis Dumont (B) M. N. Srinivas 

 (C) Robert Redfield (D) B. Malinowski 

 

12. Author of the book ‘The Todas’ is 

 (A) David G. Mandelbaum (B) W. H. R. Riverse 

 (C) A. Aiyappan (D) A. Radcliffe Brown 

 

13. Who among the following authors used ‘illustrative comparisons’ as his method ? 

 (A) Radcliffe Brown (B) Fred Eggon 

 (C) Evans Pritchard (D) Marshal Sahlins 

 

14. Cognitive Anthropology is also known as 

 (A) Ethnology (B) Ethnoscience 

 (C) Ethnography (D) Visual Anthropology 

 

15. Who defined culture as ‘man-made part of environment’ ? 

 (A) B. Malinowski (B) M. J. Herskovites 

 (C) E. B. Tylor (D) R. H. Lowie 

 

16. The status achieved by birth is called 

 (A) Achieved status (B) Ascriptive status 

 (C) Hierarchical status (D) Egalitarian status 

 

17. A group of people tracing their origin from a common known ancestor is called 

 (A) Clan (B) Sib 

 (C) Lineage (D) Phratry 

 

18. Sacred complex of Kashi was studied by 

 (A) Makhan Jha (B) L. P. Vidyarthi 

 (C) Baidynath Saraswati (D) K. N. Sahay 

 

19. Dhebar Commission report is on 

 (A) Special Multi-purpose Tribal Blocks 

 (B) Scheduled Areas 

 (C) Primitive Tribal Groups (PTG) 

 (D) Sixth Schedule Areas in the North-East. 
 

20. Theory of adaptation was first put forth by 

 (A) Baldwin (B) Taylor 

 (C) Lamarck (D) Darwin 
 

21. A man with blood group B marries a woman having AB blood group. What would be 

the blood group of their children ? 

 (A) A (B) B  

 (C) AB (D) All of these 
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11. ´ÖÆüÖ−Ö ¯Ö ü̧´¯Ö¸üÖ †Öî̧ ü »Ö‘Öã ¯Ö¸ü´¯Ö¸üÖ �úß †¾Ö¬ÖÖ¸ü$ÖÖ†Öë �êú ÃÖÖ£Ö ×�úÃÖ »Öê3Ö�ú �úÖ −ÖÖ´Ö •Öã›ÍüÖ Æîü ? 

 (A) »Öã‡ÃÖ ›ãü´ÖÖê$™ü (B) ‹´Ö.‹−Ö. ÁÖß×−Ö¾ÖÖÃÖ 
 (C) ¸üÖò²Ö™Ôü ¸êü›ü±úß»›ü (D) ²Öß. ´Öê×»Ö−ÖÖ†ÖêÃ�úß 
 

12. ‘¤üß ™üÖê›üÖÃÖ’ −ÖÖ´Ö �úß ¯ÖãÃŸÖ�ú �úÖ »Öê3Ö�ú �úÖî−Ö Æîü ? 

 (A) ›êü×¾Ö›ü •Öß. ´Öï›ü»Ö²ÖÖò´Ö (B) ›ü²»µÖæ.‹“Ö.†Ö¸ü. ×¸ü¾ÖÃÖÔ 
 (C) ‹.†‡Ô†¯¯Ö−Ö (D) ‹.¸îü›üÛŒ»Ö±ú ²ÖÎÖˆ−Ö 
 

13. ×−Ö´−ÖÖÓ×�úŸÖ »Öê3Ö�úÖë ´Öë ÃÖê ×�úÃÖ−Öê ‘¤üéÂ™üÖÓŸÖ ŸÖã»Ö−ÖÖ†Öë’ �úÖê †¯Ö−Öß ×¾Ö×¬Ö �êú ºþ¯Ö ´Öë ˆ¯ÖµÖÖê)Ö ×�úµÖÖ ? 

 (A) ¸îü›üÛŒ»Ö±ú ²ÖÎÖ‰ú−Ö (B) ±Ïêú›ü ‹))ÖÖê−Ö 
 (C) ‡¾ÖÖ−ÖËÃÖ ×¯ÖÏ“ÖÖ›Ôü (D) ´ÖÖ¿ÖÔ»Ö ÃÖÖÆËüØ»ÖÃÖ 
 

14. ÃÖÓ–ÖÖŸ´Ö�ú ´ÖÖ−Ö¾Ö-×¾Ö–ÖÖ−Ö ×�úÃÖ †−µÖ −ÖÖ´Ö ÃÖê ³Öß •ÖÖ−ÖÖ •ÖÖŸÖÖ Æîü ? 

 (A) ‹£Ö−ÖÖê»ÖÖò•Öß (B) ‹£Ö−ÖÖêÃÖÖ‡−ÃÖ 
 (C) ‹£Ö−ÖÖê)ÖÏÖ±úß (D) ×¾Ö•Öã¾Ö»Ö ‹Ó£ÖÐÖê¯ÖÖò»ÖÖê•Öß 
 

15. ÃÖÓÃ�éú×ŸÖ �úÖê ‘¾ÖÖŸÖÖ¾Ö¸ü$Ö �êú ´ÖÖ−Ö¾Ö ×−ÖÙ´ÖŸÖ ³ÖÖ)Ö’ �êú ºþ¯Ö ´Öë ¯Ö×¸ü³ÖÖ×ÂÖŸÖ ×�úµÖÖ 
 (A) ²Öß. ´Öê×»Ö−ÖÖ†ÖêÃ�úß −Öê (B) ‹´Ö.•Öê. ÆüÃÖÔ�úÖê×¾Ö™ËüÃÖ −Öê 
 (C) ‡Ô.²Öß. ™üÖ‡»Ö¸ü −Öê (D) †Ö¸ü.‹“Ö. »ÖÖê¾Öß −Öê 
 

16. •Ö−´Ö «üÖ¸üÖ ¯ÖÏÖ¯ŸÖ ÃÖÖ´ÖÖ×•Ö�ú ÛÃ£Ö×ŸÖ �úÖê ŒµÖÖ �úÆüÖ •ÖÖŸÖÖ Æîü ? 

 (A) ¯ÖÏÖ¯ŸÖ ÃÖÖ´ÖÖ×•Ö�ú ÛÃ£Ö×ŸÖ (B) †Ö¸üÖê¯Ö$ÖßµÖ ÃÖÖ´ÖÖ×•Ö�ú ÛÃ£Ö×ŸÖ 
 (C) ÃÖÖî¯ÖÖ×−Ö�ú ÃÖÖ´ÖÖ×•Ö�ú ÛÃ£Ö×ŸÖ (D) ÃÖ´Ö ÃÖÖ´ÖÖ×•Ö�ú ÛÃ£Ö×ŸÖ 
 

17. ‹�ú Æüß ¯Öæ¾ÖÔ•Ö ÃÖê †¯Ö−ÖÖ ˆ¤üË³Ö¾Ö ´ÖÖ−Ö−Öê ¾ÖÖ»Öê »ÖÖê)ÖÖë �êú ÃÖ´ÖæÆü �úÖê ŒµÖÖ �úÆüŸÖê Æïü ? 

 (A) )ÖÖê¡Ö (B) ×ÃÖ²Ö 
 (C) ¾ÖÓ¿ÖÖ¾Ö»Öß (D) ±Ïêú™ü¸üß 
 

18. �úÖ¿Öß �êú ¯ÖÖ¾Ö−Ö ÃÖÓ�ãú»Ö �úÖ †¬µÖµÖ−Ö ×�úÃÖ−Öê ×�úµÖÖ ? 

 (A) ´ÖŒ3Ö−Ö —ÖÖ (B) ‹»Ö.¯Öß. ×¾ÖªÖ£Öá 
 (C) ¾Öîª−ÖÖ£Ö ÃÖ¸üÃ¾ÖŸÖß (D) �êú.‹−Ö. ÃÖÆüÖµÖ 
 

19. ¬Öê²Ö¸ü †ÖµÖÖê)Ö ×¸ü¯ÖÖê™Ôü ×�úÃÖ ¯Ö¸ü Æîü ? 

 (A) ²ÖÆãü-ˆ§êü¿µÖß •Ö−Ö•ÖÖ×ŸÖ 3ÖÓ›ü (B) †−ÖãÃÖæ×“ÖŸÖ 0Öê¡Ö 
 (C) †Ö×¤ü´Ö •Ö−Ö•ÖÖ×ŸÖ ÃÖ´ÖæÆü (D) ˆ¢Ö¸ü-¯Öæ¾ÖÔ ´Öë ”ûšüÖ †−ÖãÃÖæ×“ÖŸÖ 0Öê¡Ö 
 

20. †−Öã�æú»Ö−Ö ×ÃÖ¨üÖ−ŸÖ ÃÖ¾ÖÔ¯ÖÏ£Ö´Ö ×�úÃÖ−Öê ¯ÖÏ×ŸÖ¯ÖÖ×¤üŸÖ ×�úµÖÖ ? 

 (A) ²ÖÖ»›ü×¾Ö−Ö (B) ™êü»Ö¸ü 
 (C) »Öế ÖÖ�Ôú (D) ›üÖÙ¾Ö−Ö 
 

21. ¸üŒŸÖ ¾Ö)ÖÔ-B �úÖ ¯Öã¹ýÂÖ AB ¸üŒŸÖ ¾Ö)ÖÔ �úß Ã¡Öß �êú ÃÖÖ£Ö ×¾Ö¾ÖÖÆü �ú¸üŸÖÖ Æîü … ˆ−Ö�úß ÃÖ−ŸÖÖ−Ö �úÖ ¸üŒŸÖ ¾Ö)ÖÔ ŒµÖÖ ÆüÖê)ÖÖ ? 

 (A) A (B) B  

 (C) AB (D) ˆ¯ÖµÖãÔŒŸÖ ÃÖ³Öß 
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22. Which of the following bones are present in Skeleton of hand ? Select the correct code. 

 I Scaphoid II Cuboid 

 III Lunate IV Triquetral 

 Code : 

 (A) I & II (B) I & III 

 (C) IV, III & II (D) I, III & IV 
 

23. Identify the correct sequence. 

 (A) Canine → Incisor → Premolar → Molar 

 (B) Incisor → Canine → Premolar → Molar 

 (C) Premolar → Molar → Canine → Incisor 

 (D) Incisor → Premolar → Canine → Molar 
 

24. Which of the following branches of Anthropology are studied by Physical 

Anthropologists ?  

 (A) Human Genetics → Growth → Serology → Society. 

 (B) Human Cytogenetics → Human adaptation → Demography → Material culture. 

 (C) Population Genetics → Growth → Dermatoglyphics → Kinship. 

 (D) Genetics → Growth → Adaptation → Dermatoglyphics. 
 

25. What combination will give a biological definition of a species ? 

 1. Geographically isolated populations that may interbreed. 

 2. Populations having the same phenotypes. 

 3. Reproductively isolated population. 

 4. Individuals of reproductively isolated population interbreed freely. 

 Code : 
 (A) 1 & 3 (B) 1, 2 & 3 

 (C) 2 & 3 (D) 3 & 4 
 

26. Given below are two statements. One is labelled as Assertion (A) and the other is 

labelled as Reason (R). 

 Assertion (A) : Menlier is a Megalithic structure. 

 Reason (R)  : It is always raised over a burial. 

 On the basis of the above choose the correct answer. 

 (A) (A) is correct (R) is wrong. 

 (B) Both (A) and (R) are correct. 

 (C) (A) is wrong and (R) is correct. 

 (D) Both (A) and (R) are wrong. 
 

27. Given below are two statements. One is labelled as Assertion (A) and the other is 

labelled as Reason (R). 

 Assertion (A) : Varve is a glacial deposit. 

 Reason (R) :  It is used to date ice ages.  

 On the basis of the above which of the following is correct ? 

 (A) Both (A) and (R) are correct. 

 (B) (A) is correct, (R) is wrong. 

 (C) (A) is wrong, (R) is correct. 

 (D) Both (A) and (R) are wrong. 
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22. ×−Ö´−ÖÖÓ×�úŸÖ ´Öë ÃÖê �úÖî−Ö ÃÖß Æü×øüµÖÖÑ ÆüÖ£Ö �êú †ÛÃ£ÖØ¯Ö•Ö¸ü ´Öë ´ÖÖî•Öæ¤ü ÆüÖêŸÖß Æïü ? ÃÖÆüß �úÖê›ü �úÖ “ÖµÖ−Ö �ú×¸ü‹ : 
 I. Ã�îú±úÖòµÖ›ü II. ŒµÖã²ÖÖòµÖ›ü 
 III. »Öã−Öê™ü IV. ™ÒüÖ‡Œ¾Öî™Òü»Ö 
 �úÖê›ü : 
 (A) I & II (B) I & III 

 (C) IV, III & II (D) I, III & IV 
 

23. ÃÖÆüß †−Öã�Îú´Ö ²ÖŸÖÖ‡‹ : 
 (A) �îú−ÖÖ‡−Ö → ‡−ÖÃÖß•ÖÌ̧ ü → ¯ÖÏß´ÖÖê»Ö¸ü → ´ÖÖê»Ö¸ü 
 (B) ‡−ÖÃÖß•ÖÌ̧ ü → �îú−ÖÖ‡−Ö → ¯ÖÏß´ÖÖê»Ö¸ü → ´ÖÖê»Ö¸ü 
 (C) ¯ÖÏß´ÖÖê»Ö¸ü → ´ÖÖê»Ö¸ü → �îú−ÖÖ‡−Ö → ‡−ÖÃÖß•ÖÌ̧ ü 
 (D) ‡−ÖÃÖß•ÖÌ̧ ü → ¯ÖÏß´ÖÖê»Ö¸ü → �îú−ÖÖ‡−Ö → ´ÖÖê»Ö¸ü 
 

24. ´ÖÖ−Ö¾Ö-×¾Ö–ÖÖ−Ö �úß �úÖî−Ö ÃÖß ¿ÖÖ3ÖÖ �úÖ †¬µÖµÖ−Ö ¿ÖÖ¸üß×¸ü�ú ´ÖÖ−Ö¾Ö¿ÖÖÛÃ¡ÖµÖÖë «üÖ¸üÖ ×�úµÖÖ •ÖÖŸÖÖ Æîü ?  

 (A) ´ÖÖ−Ö¾Ö †Ö−Öã¾ÖÓ×¿Ö�úß → ¿ÖÖ¸üß×¸ü�ú ×¾Ö�úÖÃÖ → ÃÖß¸ü´Ö ×¾Ö–ÖÖ−Ö → ÃÖ´ÖÖ•Ö 
 (B) ´ÖÖ−Ö¾Ö )Öã$ÖÃÖæ¡Öß †Ö−Öã¾ÖÓ×¿Ö�úß → ´ÖÖ−Ö¾ÖßµÖ †−Öã�æú»Ö−Ö → •Ö−ÖÖÓ×�ú�úß → ³ÖÖî×ŸÖ�ú ÃÖÓÃ�éú×ŸÖ 
 (C) •Ö−ÖÃÖÓ3µÖÖ †Ö−Öã¾ÖÓ×¿Ö�úß → ¿ÖÖ¸üß×¸ü�ú ×¾Ö�úÖÃÖ → ›ü¸ü´ÖÖ™üÖê)»Öß×±úŒÃÖ → −ÖÖŸÖê¤üÖ¸üß 
 (D) †Ö−Öã¾ÖÓ×¿Ö�úß → ¿ÖÖ¸üß×¸ü�ú ×¾Ö�úÖÃÖ → †−Öã�æú»Ö−Ö → ›ü¸ü´ÖÖ™üÖê)»Öß×±úŒÃÖ 
 

25. �úÖî−Ö ÃÖÖ ÃÖÓµÖÖê•Ö−Ö −ÖÃ»Ö �úß •Öî¾Ö�úßµÖ ¯Ö×¸ü³ÖÖÂÖÖ ¤êü)ÖÖ ? 

 1. ³ÖÖî)ÖÖê×»Ö�ú ºþ¯Ö ÃÖê ¯Öé£Ö�ú •Ö−ÖÃÖÓ3µÖÖ •ÖÆüÖÑ ÃÖÓ�ú¸ü$Ö ÆüÖêŸÖÖ Æîü … 

 2. •Ö−ÖÃÖÓ3µÖÖ ÃÖ´ÖæÆü ×•Ö−Ö�úÖ ×±ú−ÖÖê™üÖ‡¯Ö ‹�ú •ÖîÃÖÖ Æîü … 

 3. ¯ÖÏ•Ö−Ö−ÖßµÖ ºþ¯Ö ÃÖê ¯Öé£Ö�ú •Ö−ÖÃÖÓ3µÖÖ … 

 4. ¯ÖÏ•Ö−Ö−ÖßµÖ ºþ¯Ö ÃÖê ¯Öé£Ö�ú •Ö−ÖÃÖÓ3µÖÖ �êú ¾µÖÛŒŸÖ Ã¾ÖŸÖ−¡Ö ºþ¯Ö ÃÖê ÃÖÓ�ú¸ü$Ö �ú¸üŸÖê Æïü… 

 �úÖê›ü : 
 (A) 1 & 3 (B) 1, 2 & 3 

 (C) 2 & 3 (D) 3 & 4 
 

26. −Öß“Öê ¤üÖê �ú£Ö−Ö ×¤üµÖê )ÖµÖê Æïü … ‹�ú �úÖê †×³Ö�ú£Ö−Ö (A) ŸÖ£ÖÖ ¤æüÃÖ¸êü �úÖê ŸÖ�Ôú (R) �úÆüÖ )ÖµÖÖ Æîü … 
 †×³Ö�ú£Ö−Ö †Öî̧ ü ŸÖ�Ôú ¯ÖÏ�úÖ¸ü �êú ¯ÖÏ¿−Ö : 
 †×³Ö�ú£Ö−Ö (A) : ´Öî−Ö×»ÖµÖ¸ü ´ÖÆüÖ¯ÖÖÂÖÖ$Öß œüÖÑ“ÖÖ Æîü … 
 ŸÖ�Ôú (R) : µÖÆü Æü´Öê¿ÖÖ �ú²ÖÎÃ£Ö»Ö ´Öë ²Ö−ÖÖµÖÖ •ÖÖŸÖÖ Æîü … 
 ˆ¯ÖµÖãÔŒŸÖ �êú †Ö¬ÖÖ¸ü ¯Ö¸ü ×−Ö´−Ö ´Öë ÃÖê �úÖî−Ö ÃÖÖ ÃÖÆüß Æîü ? 
 (A) (A) ÃÖÆüß Æîü †Öî̧ ü (R) )Ö»ÖŸÖ Æîü … 
 (B) (A) †Öî̧ ü (R) ¤üÖê−ÖÖë ÃÖÆüß Æïü … 
 (C) (A) )Ö»ÖŸÖ Æîü †Öî̧ ü (R) ÃÖÆüß Æîü … 
 (D) (A) †Öî̧ ü (R) ¤üÖê−ÖÖë )Ö»ÖŸÖ Æïü … 
 

27. −Öß“Öê ¤üÖê �ú£Ö−Ö ×¤üµÖê )ÖµÖê Æïü … ‹�ú �úÖê †×³Ö�ú£Ö−Ö (A) ŸÖ£ÖÖ ¤æüÃÖ¸êü �úÖê ŸÖ�Ôú (R) �úÆüÖ )ÖµÖÖ Æîü … 
 †×³Ö�ú£Ö−Ö (A) : ¾ÖÖ¾ÖÔ ×Æü´ÖÖ−Öß •Ö´ÖÖ¾Ö Æîü … 
 ŸÖ�Ôú (R) : ‡ÃÖ�úÖ ˆ¯ÖµÖÖê)Ö ×Æü´Ö µÖã)Ö �úÖ �úÖ»Ö ×−Ö¬ÖÖÔ̧ ü$Ö �êú ×»Ö‹ ×�úµÖÖ •ÖÖŸÖÖ Æîü … 
 ˆ¯ÖµÖãÔŒŸÖ �êú †Ö¬ÖÖ¸ü ¯Ö¸ü ×−Ö´−Ö ´Öë ÃÖê �úÖî−Ö ÃÖÖ ÃÖÆüß Æîü ? 
 �úÖê›ü : 
 (A) (A) †Öî̧ ü (R) ¤üÖê−ÖÖë ÃÖÆüß Æïüü … 

 (B) (A) ÃÖÆüß Æîü †Öî̧ ü (R) )Ö»ÖŸÖ Æîü … 
 (C) (A) )Ö»ÖŸÖ Æîü †Öî̧ ü (R) ÃÖÆüß Æîü … 
 (D) (A) †Öî̧ ü (R) ¤üÖê−ÖÖë )Ö»ÖŸÖ Æïü … 
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28. Given below are two statements. One is labelled as Assertion (A) and the other is 

labelled as Reason (R). 

 Assertion (A) : Hand axe is a core tool. 

 Reason (R) :  It is made for cutting down trees for Jhum cultivation. 

 On the basis of the above choose the correct answer. 

 (A) Both (A) and (R) are correct. 

 (B) (A) is correct and (R) is wrong. 

 (C) (A) is wrong and (R) is correct. 

 (D) Both (A) and (R) are wrong. 
 

29. Given below are two statements. One is labelled as Assertion (A) and the other is 

labelled as Reason (R). 

 Assertion (A) : Homo erectus is a definite hominoid. 

 Reason (R) :  It had a cranial capacity of 1300 CC. 

 On the basis of the above choose the correct answer. 

 Codes : 

 (A) Both (A) and (R) are correct. 

 (B) (A) is wrong and (R) is correct. 

 (C) (A) is correct and (R) is wrong. 

 (D) Both (A) and (R) are incorrect. 
 

30. Out of the following statements, one is labelled as Assertion (A) and the other as 

Reason (R). 

 Assertion (A) : Homo erectus exhibited the presence of Linea Aspera. 

 Reason (R)  : Linea Aspera is attached to specific muscles which are responsible 

for erect posture. 

 In the context of the above statements, which of the following is correct ? 

 Codes : 
 (A) (A) is false, but (R) is true. 

 (B) Both (A) and (R) are correct. 

 (C) (A) is true, but (R) is false. 

 (D) Both (A) and (R) are false. 
 

31. Given below are two statements. One is labelled as Assertion (A) and the other as 

Reason (R). 

 Assertion (A) : Adolescent growth spurt occurs in every individual. 

 Reason (R)  : The degree of adolescent spurt varies from individual to individual. 

 In the context of the above statements which of the following is correct ? 

 Codes : 
 (A) (A) is true, but (R) is false. (B) (A) is false, but (R) is true. 

 (C) Both (A) and (R) are correct. (D) Both (A) and (R) are false. 
 

32. Given below are two statements. One is labelled as Assertion (A) and the other as 

Reason (R). 

 Assertion (A) : Finger prints are unique to each individual. 

 Reason (R)  : Finger prints are the best tool to identify any individual. 

 In the context of the above statements, which of the following is correct ? 

 Codes : 
 (A) (A) is true, but (R) is false. (B) (A) is false, but (R) is true. 

 (C) Both (A) and (R) are false. (D) Both (A) and (R) are true. 
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28. −Öß“Öê ¤üÖê �ú£Ö−Ö ×¤üµÖê )ÖµÖê Æïü … ‹�ú �úÖê †×³Ö�ú£Ö−Ö (A) ŸÖ£ÖÖ ¤æüÃÖ¸êü �úÖê ŸÖ�Ôú (R) �úÆüÖ )ÖµÖÖ Æîü … 

 †×³Ö�ú£Ö−Ö (A) : ÆüÃŸÖ �ãú»ÆüÖ›Íüß �êú−¦üßµÖ (�úÖȩ̂ ü) †Öî•ÖÖ¸ü Æîü … 
 ŸÖ�Ôú (R) : ‡ÃÖê —Öæ´Ö 3ÖêŸÖß �êú ×»Ö‹ ¾Öé0Ö �úÖ™ü−Öê �êú ¾ÖÖÃŸÖê ²Ö−ÖÖµÖÖ •ÖÖŸÖÖ Æîü … 
 ˆ¯ÖµÖãÔŒŸÖ �êú †Ö¬ÖÖ¸ü ¯Ö¸ü ×−Ö´−Ö ´Öë ÃÖê �úÖî−Ö ÃÖÖ ÃÖÆüß Æîü ? 
 �úÖê›ü : 
 (A) (A) †Öî̧ ü (R) ¤üÖê−ÖÖë ÃÖÆüß Æïüü … 

 (B) (A) ÃÖÆüß Æîü †Öî̧ ü (R) )Ö»ÖŸÖ Æîü … 
 (C) (A) )Ö»ÖŸÖ Æîü †Öî̧ ü (R) ÃÖÆüß Æîü … 
 (D) (A) †Öî̧ ü (R) ¤üÖê−ÖÖë )Ö»ÖŸÖ Æïü … 
 

29. −Öß“Öê ¤üÖê �ú£Ö−Ö ×¤üµÖê )ÖµÖê Æïü … ‹�ú �úÖê †×³Ö�ú£Ö−Ö (A) ŸÖ£ÖÖ ¤æüÃÖ¸êü �úÖê ŸÖ�Ôú (R) �úÆüÖ )ÖµÖÖ Æîü … 

 †×³Ö�ú£Ö−Ö (A) : ÆüÖế ÖÖê ‹¸êüŒ™üÃÖ ×−ÖÛ¿“ÖŸÖ ÆüÖê×´Ö×−Ö›ü (¯ÖÏÖ)´ÖÖ−Ö¾Ö) Æîü … 
 ŸÖ�Ôú (R) : ‡ÃÖ�úß 1300 CC �úß �Îêú−ÖßµÖ»Ö 0Ö´ÖŸÖÖ ÆüÖêŸÖß Æîü … 
 ˆ¯ÖµÖãÔŒŸÖ �êú †Ö¬ÖÖ¸ü ¯Ö¸ü ×−Ö´−Ö ´Öë ÃÖê �úÖî−Ö ÃÖÖ ÃÖÆüß Æïü ? 
 �úÖê›ü : 
 (A) (A) †Öî̧ ü (R) ¤üÖê−ÖÖë ÃÖÆüß Æïüü … 

 (B) (A) )Ö»ÖŸÖ Æîü †Öî̧ ü (R) ÃÖÆüß Æîü … 
 (C) (A) ÃÖÆüß Æîü †Öî̧ ü (R) )Ö»ÖŸÖ Æîü … 
 (D) (A) †Öî̧ ü (R) ¤üÖê−ÖÖë )Ö»ÖŸÖ Æïü … 
 

30. −Öß“Öê ¤üÖê �ú£Ö−Ö ×¤üµÖê )ÖµÖê Æïü … ‹�ú �úÖê †×³Ö�ú£Ö−Ö (A) ŸÖ£ÖÖ ¤æüÃÖ¸êü �úÖê ŸÖ�Ôú (R) �úÆüÖ )ÖµÖÖ Æîü … 

 †×³Ö�ú£Ö−Ö (A) : ÆüÖế ÖÖê ‡¸êüŒ™üÃÖ, »Öß×−ÖµÖÖ ‹ÃÖ¯Öȩ̂ üÖ �úß ˆ¯ÖÛÃ£Ö×ŸÖ ¯ÖÏ¤üÙ¿ÖŸÖ �ú¸üŸÖÖ Æîü … 
 ŸÖ�Ôú (R) : »Öß×−ÖµÖÖ ‹ÃÖ¯Öȩ̂ üÖ ×¾Ö×¿ÖÂ™ü ´ÖÖÓÃÖ¯Öê×¿ÖµÖÖë ÃÖê ÃÖ´²Ö×−¬ÖŸÖ ÆüÖêŸÖÖ Æîü •ÖÖê ÃÖß¬ÖÖ 3Ö›ÍüÖ ÆüÖê−Öê �êú ×»ÖµÖê 

×•Ö´´Öê¤üÖ¸ü Æîü … 
 ˆ¯ÖµÖãÔŒŸÖ �êú †Ö¬ÖÖ¸ü ¯Ö¸ü ×−Ö´−Ö ´Öë ÃÖê �úÖî−Ö ÃÖÖ ÃÖÆüß Æîü ? 
 �úÖê›ü : 
 (A) (A) †ÃÖŸµÖ Æîü ¯Ö ü̧−ŸÖã (R) ÃÖŸµÖ Æîü … 

 (B) (A) †Öî̧ ü (R) ¤üÖê−ÖÖë ÃÖÆüß Æïüü … 
 (C) (A) ÃÖŸµÖ Æîü †Öî̧ üü (R) †ÃÖŸµÖ Æîü … 
 (D) (A) †Öî̧ ü (R) ¤üÖê−ÖÖë †ÃÖŸµÖ Æïü … 
 

31. −Öß“Öê ¤üÖê �ú£Ö−Ö ×¤üµÖê )ÖµÖê Æïü … ‹�ú �úÖê †×³Ö�ú£Ö−Ö (A) ŸÖ£ÖÖ ¤æüÃÖ¸êü �úÖê ŸÖ�Ôú (R) �úÆüÖ )ÖµÖÖ Æîü … 

 †×³Ö�ú£Ö−Ö (A) : ×�ú¿ÖÖȩ̂ üÖ¾ÖÃ£ÖÖ ´Öë £ÖÖê›Íüß ¤êü¸ü �êú ×»ÖµÖê ŸÖê•Öß ÃÖê ²ÖœÍü−ÖÖ ¯ÖÏŸµÖê�ú ¾µÖÛŒŸÖ ´Öë ¤êü3Ö−Öê �úÖê ×´Ö»ÖŸÖÖ Æîü … 
 ŸÖ�Ôú (R) : ×�ú¿ÖÖȩ̂ üÖ¾ÖÃ£ÖÖ �úß ±ãúÆüÖ¸ü ¾µÖÛŒŸÖ-¾µÖÛŒŸÖ ´Öë ×³Ö−−Ö ÆüÖêŸÖß Æîü … 
 ˆ¯ÖµÖãÔŒŸÖ �êú †Ö¬ÖÖ¸ü ¯Ö¸ü ×−Ö´−Ö ´Öë ÃÖê �úÖî−Ö ÃÖÖ ÃÖÆüß Æîü ? 
 �úÖê›ü : 
 (A) (A) ÃÖŸµÖ Æîü, ¯Ö¸ü−ŸÖã (R) †ÃÖŸµÖ Æîü … (B) (A) †ÃÖŸµÖ Æîü, ¯Ö¸ü−ŸÖã (R) ÃÖŸµÖ Æîü … 

 (C) (A) †Öî̧ ü (R) ¤üÖê−ÖÖë ÃÖŸµÖ Æïü … (D) (A) †Öî̧ üü (R) ¤üÖê−ÖÖë †ÃÖŸµÖ Æïü … 
 

32. −Öß“Öê ¤üÖê �ú£Ö−Ö ×¤üµÖê )ÖµÖê Æïü … ‹�ú �úÖê †×³Ö�ú£Ö−Ö (A) ŸÖ£ÖÖ ¤æüÃÖ¸êü �úÖê ŸÖ�Ôú (R) �úÆüÖ )ÖµÖÖ Æîü … 

 †×³Ö�ú£Ö−Ö (A) : †Ó)Öã»Ö ”ûÖ¯Ö ¯ÖÏŸµÖê�ú ¾µÖÛŒŸÖ ´Öë †»Ö)Ö ÆüÖêŸÖê Æïü … 
 ŸÖ�Ôú (R) : ×�úÃÖß ¾µÖÛŒŸÖ �úß ¯ÖÆü“ÖÖ−Ö �êú ×»Ö‹ †Ó)Öã»Ö ”ûÖ¯Ö ÁÖêÂšü †Öî•ÖÖ¸ü Æîü … 
 ˆ¯ÖµÖãÔŒŸÖ �êú †Ö¬ÖÖ¸ü ¯Ö¸ü ×−Ö´−Ö ´Öë ÃÖê �úÖî−Ö ÃÖÖ ÃÖÆüß Æîü ? 
 �úÖê›ü : 
 (A) (A) ÃÖŸµÖ Æîü, ¯Ö¸ü−ŸÖã (R) †ÃÖŸµÖ Æîü … (B) (A) †ÃÖŸµÖ Æîü, ¯Ö¸ü−ŸÖã (R) ÃÖŸµÖ Æîü … 

 (C) (A) †Öî̧ ü (R) ¤üÖê−ÖÖë †ÃÖŸµÖ Æïü … (D) (A) †Öî̧ üü (R) ¤üÖê−ÖÖë ÃÖŸµÖ Æïüü … 
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33. Which one of the following pairs is correctly matched ? 

 (A) The Gift  :  Raymond Firth 

 (B) Patterns of Culture  : L. P. Vidyarthi 

 (C) We The Tikopia  :  Evans Pritchard 

 (D) Andaman Islanders  :  Radcliffe Brown 

 

34. Heterozygosity can be ascertained by which of the following ? 

 (A) Back cross (B) Reciprocal cross 

 (C) Blending inheritance (D) Multiple crossing 

 

35. Polyploidy helps in formation of new 

 (A) Genes (B) Species 

 (C) Mutation (D) Drift 

 

36. Descriptive study of cultures is known as 

 (A) Ethnology (B) Ethnography 

 (C) Ethology (D) Ethnomethodology 

 

37. The practice of potlatch is well known from 

 (A) Trobrianders (B) Kwakiutl 

 (C) Nuer (D) Andamanese 

 

38. Match an item in List-I with an item in List-II. Use code given below : 

List – I List – II 

a. Animism i. James Frazer 

b. Jajmani system ii. William Wiser 

c. Contagious magic iii. Karl Polangi 

d. Economic Exchanges iv. B. Tylor 

 Code : 
  a b c d 

 (A) i ii iii iv 

 (B) ii iii i iv 

 (C) iv ii i iii 

 (D) iv iii i ii 

 

39. Match an item in List-I with an item in List-II. Use code given below : 

List – I List – II 
a. M. N. Srinivas i. Homohierarchicus 

b. D. N. Majumdar ii. Remembered Village 

c. David G. Mandelbaum iii. Races and cultures of India 

d. Louis Dumont iv. Society in India 

 Code : 

  a b c d 

 (A) ii iii iv i 

 (B) i ii iv iii 

 (C) iv iii i ii 

 (D) iii i iv ii 
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33. ×−Ö´−ÖÖÓ×�úŸÖ ´Öë �úÖî−Ö ÃÖÖ µÖã)´Ö ÃÖÆüß ´Öê×»ÖŸÖ Æîü ? 

 (A) ¤üß ×)Ö°™ü  :  ¸êǘ Ö$›ü ±ú£ÖÔ 
 (B) ¯Öî™ü−ÖÔÃÖË †Öò±ú �ú»“Ö¸ü :  ‹»Ö.¯Öß. ×¾ÖªÖ£Öá 
 (C) ¾Öß ¤üß ×™ü�úÖê×¯ÖµÖÖ :  ‡¾Ö−ÖÃÖË ×¯ÖÏ“Ö›Ôü 
 (D) †Ó›ü´ÖÖ−Ö †Ö‡»Öï›ü¸ü :  ¸îü›üÛŒ»Ö±ú ²ÖÎÖˆ−Ö 
 

34. Æêü™ü¸üÖê•ÖÖ‡)ÖÖê×ÃÖ™üß �úÖê ×−Ö´−ÖÖÓ×�úŸÖ ´Öë ÃÖê ×�úÃÖ�êú «üÖ¸üÖ ×−ÖÛ¿“ÖŸÖ ×�úµÖÖ •ÖÖ ÃÖ�úŸÖÖ Æîü ? 

 (A) ÃÖÓ�ú¸ü ¯Öæ¾ÖÔ•Ö ÃÖÓ�ú¸ü$Ö (B) †Ö¯ÖÃÖß ÃÖÓ�ú¸ü$Ö 
 (C) ×´Ö×ÁÖŸÖ ¾ÖÓ¿ÖÖ−Öã�Îú´Ö (D) ²ÖÆãü ÃÖÓ�ú¸ü$Ö 
 

35. ¯ÖÖê»Öß¯»ÖÖòµÖ›üß −ÖæŸÖ−Ö ________ �êú ×−Ö´ÖÖÔ$Ö ´Öë ´Ö¤ü¤ü �ú¸üŸÖÖ Æîü … 
 (A) •Öß−Ö (B) −ÖÃ»Ö 
 (C) ˆŸ¯Ö×¸ü¾ÖŸÖÔ−Ö (D) †¯ÖÃÖ¸ü$Ö (×›Òü°™ü) 
 

36. ÃÖÓÃ�éú×ŸÖµÖÖë �úÖ ×¾Ö¾Ö¸ü$ÖÖŸ´Ö�ú †¬µÖµÖ−Ö ŒµÖÖ �úÆü»ÖÖŸÖÖ Æîü ? 

 (A) ‹£Ö−ÖÖê»ÖÖò•Öß (B) ‹£Ö−ÖÖê)ÖÏÖ±úß 
 (C) ‹£ÖÖê»ÖÖò•Öß (D) ‹£Ö−ÖÖế Öî£Ö›üÖê»ÖÖò•Öß 
 

37. ¯ÖÖî™ü»Öî“Ö �úß ¯Ö×¸ü¯ÖÖ™üß ×�úÃÖ −ÖÖ´Ö ÃÖê •ÖÖ−Öß •ÖÖŸÖß Æîü ? 

 (A) ™ÒüÖê²ÖÎß‹−›ü¸ü (B) Œ¾ÖÖ×ŒµÖãŸÖË»Ö 
 (C) −µÖã†¸ü (D) †Ó›ü´ÖÖ−ÖßÃÖ 
 

38. ÃÖæ“Öß-I ´Öë ¤üß ´Ö¤üÖë �úÖê ÃÖæ“Öß-II ´Öë ¤üß ´Ö¤üÖë �êú ÃÖÖ£Ö ×´Ö»ÖÖ−Ö �úß×•Ö‹ … −Öß“Öê ×¤ü‹ �úÖê›üÖë �úÖ ˆ¯ÖµÖÖê)Ö �ú¸ëü : 
 ÃÖæ“Öß – I  ÃÖæ“Öß– II 

a. •Öß¾Ö¾ÖÖ¤ü i. •Öê´ÃÖ ±Ïêú•ÖÌ̧ ü 
b. •Ö•Ö´ÖÖ−Öß ¯ÖÏ£ÖÖ ii. ×¾Ö×»ÖµÖ´Ö ¾ÖÖ‡•ÖÌ̧ ü 
c. ÃÖÓ�ÎúÖ´Ö�ú •ÖÖ¤æ iii. �úÖ»ÖÔ ¯ÖÖê»ÖÖÓ)Öß 
d. †ÖÙ£Ö�ú ×¾Ö×−Ö´ÖµÖ iv. ‡Ô.²Öß. ™üÖ‡»Ö¸ü 

 �úÖê›ü : 
  a b c d 
 (A) i ii iii iv 
 (B) ii iii i iv 
 (C) iv ii i iii 
 (D) iv iii i ii 
 

39. ÃÖæ“Öß-I ´Öë ¤üß ´Ö¤üÖë �úÖ ×´Ö»ÖÖ−Ö ÃÖæ“Öß-II ´Öë ¤üß ´Ö¤üÖë �êú ÃÖÖ£Ö �ú×¸ü‹ … −Öß“Öê ×¤ü‹ �úÖê›üÖë �úÖ ˆ¯ÖµÖÖê)Ö �ú¸ëü : 
  ÃÖæ“Öß – I   ÃÖæ“Öß– II 

a. ‹´Ö. ‹−Ö. ÁÖß×−Ö¾ÖÖÃÖ i. ÆüÖế ÖÖê×Æü†Ö¸ü×�ú�úÃÖ 
b. ›üß. ‹−Ö. ´Ö•Öǽ Ö¤üÖ¸ü ii. ×¸ü´Öï´²Ö›Ôüü ×¾Ö»Öî•Ö 
c. ›êü×¾Ö›ü •Öß. ´Öï›ü»Ö²ÖÖò´Ö iii. ȩ̂üÃÖ‡ÃÖ ‹$›ü �ú»“ÖÃÖÔ †Öò±ú ‡Ó×›üµÖÖ 
d. »Öã‡Ô ›ãü´ÖÖê iv. ÃÖÖêÃÖÖ‡™üß ‡−Ö ‡Ó×›üµÖÖ 

 �úÖê›ü : 
  a b c d 
 (A) ii iii iv i 
 (B) i ii iv iii 
 (C) iv iii i ii 
 (D) iii i iv ii 
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40. Identify the correct sequence 

 (A) Monogamy → Polygamy → Group marriage → Sexual promiscuity. 

 (B) Sexual Promiscuity → Group marriage → Polygamy → Monogamy. 

 (C) Polygamy → Monogamy → Group marriage → Sexual promiscuity. 

 (D) Sexual promiscuity → Group marriage → Monogamy → Polygamy. 

 

41. Identify the correct sequence.  

 (A) Dhebar Commission → Shilu Ao Committee → Mandal Commission → 73
rd

 

Constitutional Amendment. 

 (B) Shilu Ao Committee → Dhebar Commission → Mandal Commission → 73
rd

 

Constitutional Amendment. 

 (C) Dhebar Commission → Mandal Commission → Shilu Ao Committee → 73
rd

 

Constitutional Amendment. 

 (D) Shilu Ao Committee → Mandal Commission → Dhebar Commission →73
rd

 

Constitutional Amendment. 

 

42. Schedule is used more frequently in anthropological data collection because 

 (A) Non-literate informants cannot fill-up questionnaires. 

 (B) It is convenient for collection of qualitative data in a structured manner. 

 (C) Both (A) and (B) are not correct. 

 (D) Both (A) and (B) are correct. 

 

43. Of the following items identify the correct order in which they appear. 

 (A) Textile →Pottery → Crucible → Cow cart  

 (B) Cow cart → Pottery → Crucible → Textile 

 (C) Pottery → Textile → Crucible → Cow cart 

 (D) Crucible → Pottery → Cow car → Textile 

 

44. Find proper sequence of the following : 

 (A) Riss → Wurm →Gunz → Mindel 

 (B) Mindel → Riss → Gunz → Wurm 

 (C) Gunz → Mindel → Riss → Wurm 

 (D) Wurm → Riss → Mindel → Gunz 

 

45. Find proper sequence of the following sites in terms of cultural chronology. 

 (A) Pallavaram → Daojali Hading → Lothal → Langhnaj 

 (B) Daojali Hading → Lothal → Pallavaram → Langhnaj 

 (C) Pallavaram → Langhnaj → Daojali Hading →Lothal 

 (D) Lothal → Pallavaram → Langhnaj → Daojali Hading 



 

D-0709 13  Paper-II 

40. ÃÖÆüß †−Öã�Îú´Ö ²ÖŸÖÖ‡‹ : 

 (A) ‹�ú ×¾Ö¾ÖÖÆü → ²ÖÆãü ×¾Ö¾ÖÖÆü ¯ÖÏ£ÖÖ → ÃÖ´ÖæÆü ×¾Ö¾ÖÖÆü → µÖÖî−Ö ÃÖÓ�ú¸üŸÖÖ 

 (B) µÖÖî−Ö ÃÖÓ�ú¸üŸÖÖ → ÃÖ´ÖæÆü ×¾Ö¾ÖÖÆü → ²ÖÆãü ×¾Ö¾ÖÖÆü ¯ÖÏ£ÖÖ → ‹�ú ×¾Ö¾ÖÖÆü 

 (C) ²ÖÆãü ×¾Ö¾ÖÖÆü ¯ÖÏ£ÖÖ → ‹�ú ×¾Ö¾ÖÖÆü → ÃÖ´ÖæÆü ×¾Ö¾ÖÖÆü → µÖÖî−Ö ÃÖÓ�ú¸üŸÖÖ 

 (D) µÖÖî−Ö ÃÖÓ�ú¸üŸÖÖ → ÃÖ´ÖæÆü ×¾Ö¾ÖÖÆü → ‹�ú ×¾Ö¾ÖÖÆü → ²ÖÆãü ×¾Ö¾ÖÖÆü ¯ÖÏ£ÖÖ 
 

41. ÃÖÆüß †−Öã�Îú´Ö ²ÖŸÖÖ‡‹ : 

 (A) ¬Öê²Ö¸ü †ÖµÖÖê)Ö → ¿Öß»Öã ‹†Öê ÃÖ×´Ö×ŸÖ → ´ÖÓ›ü»Ö †ÖµÖÖê)Ö → ŸÖêÆü¢Ö¸ü¾ÖÖÑ ÃÖÓ¾Öî¬ÖÖ×−Ö�ú ÃÖÓ¿ÖÖê¬Ö−Ö 

 (B) ¿Öß»Öã ‹†Öê ÃÖ×´Ö×ŸÖ → ¬Öê²Ö¸ü †ÖµÖÖê)Ö → ´ÖÓ›ü»Ö †ÖµÖÖê)Ö → ŸÖêÆü¢Ö¸ü¾ÖÖÑ ÃÖÓ¾Öî¬ÖÖ×−Ö�ú ÃÖÓ¿ÖÖê¬Ö−Ö 

 (C) ¬Öê²Ö¸ü †ÖµÖÖê)Ö → ´ÖÓ›ü»Ö †ÖµÖÖê)Ö → ¿Öß»Öã ‹†Öê ÃÖ×´Ö×ŸÖ → ŸÖêÆü¢Ö¸ü¾ÖÖÑ ÃÖÓ¾Öî¬ÖÖ×−Ö�ú ÃÖÓ¿ÖÖê¬Ö−Ö 

 (D) ¿Öß»Öã ‹†Öê ÃÖ×´Ö×ŸÖ → ´ÖÓ›ü»Ö †ÖµÖÖê)Ö → ¬Öê²Ö¸ü †ÖµÖÖê)Ö → ŸÖêÆü¢Ö¸ü¾ÖÖÑ ÃÖÓ¾Öî¬ÖÖ×−Ö�ú ÃÖÓ¿ÖÖê¬Ö−Ö 
 

42. ´ÖÖ−Ö¾Ö ×¾Ö–ÖÖ−ÖßµÖ ÃÖ´²Ö−¬Öß †ÖÓ�ú›Íêü ‹�ú¡Ö �ú¸ü−Öê ´Öë †−ÖãÃÖæ“Öß �úÖ ˆ¯ÖµÖÖê)Ö •µÖÖ¤üÖ ×�úµÖÖ •ÖÖŸÖÖ Æîü, ŒµÖÖë×�ú 

 (A) †-ÃÖÖ0Ö¸ü –ÖÖ¯Ö�ú (ÃÖæ“Ö�ú) ¯ÖÏ¿−ÖÖ¾Ö×»ÖµÖÖë �úÖê ³Ö¸ü −ÖÆüà ÃÖ�úŸÖê Æïü … 

 (B) )Öã$ÖÖŸ´Ö�ú †ÖÓ�ú›Íêü ÃÖÓ̧ ü“Ö−ÖÖŸ´Ö�ú œÍÓü)Ö ÃÖê ‹�ú×¡ÖŸÖ �ú¸ü−ÖÖ ÃÖã×¾Ö¬ÖÖ•Ö−Ö�ú Æîü … 

 (C) (A) †Öî̧ ü (B) ¤üÖê−ÖÖë ÃÖÆüß −ÖÆüà Æïüü … 

 (D) (A) †Öî̧ ü (B) ¤üÖê−ÖÖë ÃÖÆüß Æïü … 

 

43. ×−Ö´−ÖÖÓ×�úŸÖ ´Ö¤üÖë �úÖê ˆ−Ö�êú ¯ÖÏ�ú™ü ÆüÖê−Öê �úÖ ÃÖÆüß �Îú´Ö ²ÖŸÖÖ‡‹ : 

 (A) ™êüŒÃÖ™üÖ‡Ô»Ö → ´Öé¤Ëü³ÖÖ$›ü → �ãúÛ»ÆüµÖÖ → )ÖÖî )ÖÖ›Íüß 

 (B) )ÖÖî )ÖÖ›Íüß → ´Öé¤Ëü³ÖÖ$›ü → �ãúÛ»ÆüµÖÖ → ™êüŒÃÖ™üÖ‡Ô»Ö 

 (C) ´Öé¤Ëü³ÖÖ$›ü → ™êüŒÃÖ™üÖ‡Ô»Ö → �ãúÛ»ÆüµÖÖ → )ÖÖî )ÖÖ›Íüß 

 (D) �ãúÛ»ÆüµÖÖ → ´Öé¤Ëü³ÖÖ$›ü → )ÖÖî )ÖÖ›Íüß → ™êüŒÃÖ™üÖ‡Ô»Ö 
 

44. ×−Ö´−ÖÖÓ×�úŸÖ �úÖ ˆ¯ÖµÖãŒŸÖ †−Öã�Îú´Ö ²ÖŸÖÖ‡‹ : 

 (A) ×¸üÃÖ → ¾Öǽ ÖÔ → )ÖãÑ•Ö → Ø´Ö›ü»Ö 

 (B) Ø´Ö›ü»Ö → ×¸üÃÖ → )ÖãÑ•Ö → ¾Öǽ ÖÔ 

 (C) )ÖãÑ•Ö → Ø´Ö›ü»Ö → ×¸üÃÖ → ¾Öǽ ÖÔ 

 (D) ¾Öǽ ÖÔ → ×¸üÃÖ → Ø´Ö›ü»Ö → )ÖãÑ•Ö 
 

45. ÃÖÖÓÃ�éú×ŸÖ�ú �úÖ»ÖÖ−Öã�Îú×´Ö�úÖ �êú ÃÖ´²Ö−¬Ö ´Öë ×−Ö´−ÖÖÓ×�úŸÖ Ã£Ö»ÖÖë �úÖ ˆ¯ÖµÖãŒŸÖ †−Öã�Îú´Ö ²ÖŸÖÖ‡‹ : 

 (A) ¯Ö»»ÖÖ¾Ö¸ü´Ö → «îü¾Ö•Öî»Öß ÆîüØ›ü)Ö → »ÖÖê£Ö»Ö → »ÖÓ‘Ö−ÖÖ•ÖÌ 

 (B) «îü¾Ö•Öî»Öß ÆîüØ›ü)Ö → »ÖÖê£Ö»Ö → ¯Ö»»ÖÖ¾Ö¸ü´Ö → »ÖÓ‘Ö−ÖÖ•ÖÌ 

 (C) ¯Ö»»ÖÖ¾Ö¸ü´Ö → »ÖÓ‘Ö−ÖÖ•ÖÌ → «îü¾Ö•Öî»Öß ÆîüØ›ü)Ö → »ÖÖê£Ö»Ö 

 (D) »ÖÖê£Ö»Ö → ¯Ö»»ÖÖ¾Ö¸ǘ Ö → »ÖÓ‘Ö−ÖÖ•Ö → «îü¾Ö•Öî»Öß ÆîüØ›ü)Ö 
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46. Match the items in List-I with items in List-II. 

List – I List – II 

I    Moraine 1. Geology 

II    Terrace 2. Palaenology 

III  Pollen 3. River 

IV  Stratigraphy 4. Glacier 

 Code : 
  I II III IV 

 (A) 1 2 3 4 

 (B) 4 3 2 1 

 (C) 3 2 4 1 

 (D) 2 1 4 3 

 

47. Match items in List-I with items in List-II. 

 List – I  List – II 
I  Hand axe 1. Pressure flaking 

II  Blade 2. Polishing 

III  Laurel-leaf point 3. Punch 

IV  Celt 4. Acheulian 

 Code : 
  I II III IV 

 (A) 4 3 1 2 

 (B) 3 2 4 1 

 (C) 2 1 3 4 

 (D) 1 4 2 3 

 

48. Match items in List-I with items in List-II. 

 List – I  List – II 
I  Homo erectus 1. Aurignacian 

II  Homo halius 2. Mousterean 

III  Homo sapiens sapiens 3. Oldowan 

IV  Homo neanderthalensis 4. Acheulian 

 Code : 

  I II III IV 

 (A) 1 2 3 4 

 (B) 2 4 1 3 

 (C) 4 3 1 2 

 (D) 3 1 4 2 

 

49. Which of the following is a product of punch technique ? 

 (A) Fluted core (B) Discoid core 

 (C) Tortoise core (D) Amorphous core 

 

50. Which of the important aspects of new Panchayat Raj is correct ? 

 (A) District level planning (B) More powers to Panchayats 

 (C) Reservation for women (D) All the above 

__________ 
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46. ÃÖæ“Öß-I ´Öë ¤üß ´Ö¤üÖë �úÖ ÃÖæ“Öß-II ´Öë ¤üß ´Ö¤üÖë �êú ÃÖÖ£Ö ×´Ö»ÖÖ−Ö �úß×•Ö‹ : 
 ÃÖæ“Öß – I ÃÖæ“Öß – II 

I. ´ÖÖȩ̂ êü−Ö 1. ³Öæ-×¾Ö–ÖÖ−Ö 
II. ™ü¸Ëü¸êüÃÖ 2. ¯Öî»Öê−ÖÖê»ÖÖò•Öß 
III. ¯ÖÖê»ÖË»Ö−Ö 3. −Ö¤üß 
IV. Ã™Òêü×™ü)ÖÏÖ±úß 4. ×Æü´ÖÖ−Öß 

 �úÖê›ü : 
  I II III IV 
 (A) 1 2 3 4 
 (B) 4 3 2 1 
 (C) 3 2 4 1 
 (D) 2 1 4 3 
 

47. ÃÖæ“Öß-I ´Öë ´Ö¤üÖë �úÖ ×´Ö»ÖÖ−Ö ÃÖæ“Öß-II ´Öë ´Ö¤üÖë �êú ÃÖÖ£Ö �úß×•Ö‹ : 
 ÃÖæ“Öß – I ÃÖæ“Öß – II 

I. ÆüÃŸÖ �ãú»ÆüÖ›Íüß 1. ¤ü²ÖÖ¾Ö ¿Ö»�ú 
II. ²»Öî›ü 2. ¯ÖÖò»ÖßØ¿Ö)Ö 
III. »ÖÖò̧ êü»Ö-»Öß±ú-¯ÖÖòµÖ−™ü 3. ‘ÖæÑÃÖÖ 
IV. ÃÖê»™ü 4. ‹×¿Ö×»Ö†Öë 

 �úÖê›ü : 
  I II III IV 
 (A) 4 3 1 2 
 (B) 3 2 4 1 
 (C) 2 1 3 4 
 (D) 1 4 2 3 
 

48. ÃÖæ“Öß-I ´Öë ¤üß ´Ö¤üÖë �úÖ ÃÖæ“Öß-II ´Öë ¤üß ´Ö¤üÖë �êú ÃÖÖ£Ö ×´Ö»ÖÖ−Ö �úß×•Ö‹ : 
 ÃÖæ“Öß – I  ÃÖæ“Öß– II 

I. ÆüÖế ÖÖê ‹¸êüŒ™üÃÖ 1. †Öî×¸ü)Ö−Öê×¿ÖµÖÖ−Ö 
II. ÆüÖế ÖÖê Æîü×»Ö†ÃÖ 2. ´ÖÖêÃŸÖÖ¸üß 
III. ÆüÖế ÖÖê ÃÖî×¯ÖµÖ−ÃÖ 3. †Öê»Ö›üÖê¾Ö−Ö 
IV. ÆüÖế ÖÖê −Öï›ü¸ü£Öî»Öê−Ö×ÃÖÃÖ 4. ‹×¿Ö»ÖÖ‡Ô 

 �úÖê›ü : 
  I II III IV 
 (A) 1 2 3 4 
 (B) 2 4 1 3 
 (C) 4 3 1 2 
 (D) 3 1 4 2 
 

49. ×−Ö´−ÖÖÓ×�úŸÖ ´Öë ÃÖê ¯ÖÓ“Ö ŸÖ�ú−Öß�ú �úÖ ˆŸ¯ÖÖ¤ü �úÖî−Ö ÃÖÖ Æîü ? 

 (A) °»Öæ×™›ü �úÖȩ̂ ü (B) ×›üÃÖ�úÖòµÖ›ü �úÖȩ̂ ü 
 (C) ™üÖò̧ ü™üÖòµÖÃÖ (�ú”ãû†Ö) �úÖȩ̂ ü (D) ‹´ÖÖȩ̂ ü±ÌúÃÖ �úÖȩ̂ ü 
 

50. −ÖæŸÖ−Ö ¯ÖÓ“ÖÖµÖŸÖ ¸üÖ•Ö �êú ´ÖÆü¢¾Ö¯Öæ$ÖÔ ¯ÖÆü»Öã†Öë ´Öë ÃÖê �úÖî−Ö ÃÖÖ ÃÖÆüß Æîü ? 

 (A) ×•Ö»ÖÖ ÃŸÖ¸ü ×−ÖµÖÖê•Ö−Ö (B) ¯ÖÓ“ÖÖµÖŸÖÖë �úÖê •µÖÖ¤üÖ ÃÖ¢ÖÖ 
 (C) ÛÃ¡ÖµÖÖë �êú ×»Ö‹ †Ö¸ü0Ö$Ö (D) ˆ¯ÖµÖãÔŒŸÖ ÃÖ³Öß 

__________
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Space for Rough Work 
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